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Questions for the exam on the discipline

“Microeconomic analysis and Policy”

Theoretical part.

1.
Market and industry: concept, boundaries, classifiers.

2.
Market structures and their underlying determinants.

3.
Concentration level and factors determining it. Indicators of industrial concentration: Herfindahl-Hirschmann indices, entropy, Gini and others.

4.
Market power and its indicators. Coefficients (indices) of Bain, Lerner, Tobin. Empirical studies of the ratio of concentration and mono-polnoy power.

5.
Firm as a market subject. The problem of target selection by the firm. The profit maximization hypothesis. Alternative goals of the firm.

6.
Costs and their minimization. The trajectory of production expansion and conditional demand for resources. The concept of identified cost minimization.

7.
Costs in the short term. Costs in the long run. Relationship between short-term and long-term cost curves. Comparative statics. Properties of costs in the long term.

8.
Irrevocable costs. Transaction costs and their structure.

9.
Alternative approaches to the definition of economic profit. Determination of the value of Economic profit. Calculation of economic profit. Profit derived by reducing costs.

10.
The choice of the monopolist that maximizes profit. First and second order conditions for profit maximization. Offer and costs of the monopoly list. A monopolist with several factories.

11.
Economic consequences of monopoly power. Pure welfare po-Teri. Measure the size of the net losses in practice. X-effektivnosti monopoly. Opportunity costs of monopolization.

12.
Features of the market with a natural monopoly. The economic nature of natural monopoly. Price regulation of natural monopoly. Non-price methods of regulation of natural monopoly.

13.
General background and classification of models. Chamberlin model for a large number of firms. Model background and two demand curves for a monopolistically competitive firm. The equilibrium of the firm in the long term.

14.
The problem of industry efficiency with monopolistic competition in the Chamberlin model.

15.
The traditional model of monopolistic competition.

16.
Regulatory analysis of monopolistic competition. The choice of society between the production volume and variety under conditions of monopolistic competition.

17.
Oligopoly as a market structure. Nekupirovanny oligopoly. Interaction in conditions of quantitative oligopoly. 

18.
The Cournot Model. The Cournot equilibrium for n firms. The Cournot model and the comparative statics.

19.
Oligopoly models based on the establishment of the yen. Bertrand's paradox and ways to solve it. Pricing under capacity constraints.

20.
Strategic behavior and game theory. Nash equilibrium. Games with a coherent choices: commitment and backward induction. Repetitive games and tough payback strategy.

21.
Criteria the use of models for the analysis of industry markets.

22.
Agreements between firms in conditions of oligopoly: varieties and institutional forms.

23.
Cartel as a form of agreement. The economic model of the cartel: maximization of joint profits. Negotiation models of cartel agreements. Factors that ensure the sustainability of the cartel. Methods to prevent violation of the agreement.

24.
Alternative ways of coordination in oligopolistic markets. Heuristic pricing as a coordination tool. 

25.
Focal points and silent coordination. Order flows, inventories and coordination in oligopolistic industries.

26.
Coordination in oligopolies: contributing and limiting factors.

27.
The dominant firm has its strategic competitive advantages.

28.
Price leadership dominant firm (model of Forhaimer). The "suicidal" behavior of the dominant firm and the strategy of limiting pricing.

29.
Limitation of static models. Dynamic model of pricing in the market with a dominant firm. Consequences of the dominating firm.

30.
Quasi-competitive markets and their characteristics.

31.
Price discrimination: conditions and types. Perfect racial discrimination (discrimination of the first degree). Chain discrimination of the second step. 

32.
The block rate. Third-degree racial discrimination and market segmentation. Intertemporal price discrimination. The Coase paradox and the ways of its solution.

33.
The practice of price discrimination: related sales, nonlinear pricing, variable approach to pricing, seasonal pricing.

34.
Peak load pricing. Peak load pricing for the case of full capacity utilization during the period of maximum demand.

35.
Cost-plus pricing.

36.
Transfer price. Transfer pricing models.

37.
Nature, economic content and indicators of product differentiation.

38.
Types of product differentiation. Horizontal differentiation, vertical differentiation and approach of selected characteristics. 

39.
The positioning of the product. Theory of optimal level of product diversity and market structure.

40.
Product differentiation and market power.

41.
Advertising as a factor of product differentiation. Market structure and advertising costs. Impact and effectiveness of advertising.

42.
Vertical market relations and their features. Vertical control and its forms.

43.
Vertical integration: typology and motivation. The problem of double marginalization (double monopoly profit) and its solution. Vertical integration and strengthening of market power.

44.
Vertical constraints and their forms. Vertical contracts: STI-mules and tools. Franchising as a special type of vertical contract.

45.
Diversification: classification, motives, modern trends.

46.
Barriers of entry and exit of firms PA market and their types. Classification of markets by the level of input barriers of D. Bain.

47.
Non-strategic entry-exit barriers and their types.

48.
Strategic barriers of entry and exit of firms to the market and their types. Barriers associated with price types of strategies. The main non-price strategies for building barriers.

49.
Mergers and acquisitions of firms and their forms. Motives and benefits of the merger. Practice of takeover and merger of firms. Consequences of mergers. Indicators of entry and exit of firms to the market.

50.
Innovation as an economic process. The nature of innovation activity and its stages. Types of innovations.

51.
Market structure and innovation. Innovation in a competitive market. Determination of the optimal number of firms-innovators.

52.
Patent protection and its role in stimulating innovation. Analysis of patent protection from the point of view of social welfare. Alternative types of protection against imitation and alternative incentives for R & d. Reward system and contractual (procurement) mechanism.

53.
Diffusion of innovation and its external effect. The problem of innovators and innovators. Technological strategies of enterprises.

54.
The need for state regulation of markets. The objectives of public policy. The main directions of interaction between the state and markets.

55.
Industrial policy and its types, structure. Main directions of industrial policy.

56.
Competitive policy of the state and its theoretical justification. Structure and directions of competition policy. 

57.
Policy of regulation of monopolistic activity: goals, direction, mechanism of implementation. 

58.
Government policy and concentration. Antitrust policy and price discrimination. State and regulation of mergers and acquisitions. Control policy on vertical restrictions.

59.
Natural monopoly and the policy of the state. De-monopolization is linked to natural monopoly.

60.
Innovation policy and its directions. The policy of growing innovative businesses.
Practical part.

1. Sold products bring revenue to manufacturers in the amount of:

a) TR = 9Q;b) MR = 3; c) TR = 8Q – ¼Q2;d) MR = 7 – 0,5Q.

Let's define the type of market structure.

2. Monopoly in the market is faced with a marginal income defined by the function MR = 60–2Q. Marginal costs are as follows: MC= -15 + 3Q. Determine the market price of the monopolist.

3. The values of the price and volume of output are given, at which the monopolist receives the maximum revenue P = 25 and Q = 100. Derive the formula of the linear function of demand for the products of a monopolist.

4. The curve of market demand for monopoly products is given by the following function P(Q) = 40–bQ. Marginal costs are: MS = 20. Find the target at which the maximum profit is achieved.

5. Based on the data in the table, determine the total costs, average, average constant, average variables, marginal costs, if the total fixed costs are 10:

	Q
	0
	1
	2
	3
	4

	TVC
	0
	5
	12
	16
	18


6. The owner of a small shop annually pays 3 thousand. e. rent, 20 thousand. e. wages, 100 thousand. e. for raw materials, 10 thousand. e. for electricity. The cost of the installed equipment is 200 thousand USD, its service life is 10 years. If these funds he put in the Bank each year would receive 16 thousand. E. income. Determine the accounting and economic costs.

7. Using the data in the table, determine the effective use of the production factor:

	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	ТР
	10
	21
	34
	50
	70
	88
	103
	114
	120
	121
	121
	119


8. It is known that at L = 30, the maximum of the average product of labor is achieved, and this amount of resource allows the firm to produce 120 units of production. What will be the marginal product of labor if 29 units of labor are employed?

9. TPL (5) = 100, MPL (6) = 21, MPL (7) = 20, MPL (8) = 19. Determine the average product of the eighth unit of labor.

10. The average product of ten workers is 20 units, the marginal product of the eleventh worker is 10 units. Determine the total labor product of all employees.

11. The average product of three employed in the production of production a is 10 units, the average product of four employed-10 units, the average product of five employed-11 units. Determine the marginal product of the fourth and fifth employee.

12. The average product of five workers is equal to 40 units. the Marginal product of the average employee was 10 units. Determine the average product of labor with six employed in production.

13. In the market of monopolistic competition, there is a firm that has a cost function TC = Q3–a × Q2+ 91 × Q. the market demand Function Q= 75 – 2 × P. Determine at what value of the variable a this firm will be in a state of long-term equilibrium. What level of price and volume of output will it set?

14. The short-term total costs of a firm operating under monopolistic competition are expressed by the equation TC = Q2 – 10 × Q + 64, and demand Qd = 12.5 – 0.25 × P. Determine the volume of output corresponding to the exact production capacity.

15. It is known that in the long term, the average variable costs of a monopolistically competitive firm depend on the volume of production AVC = Q + 10. The demand for the company's products is described by the formula P = 150 – 3Q. Find the equilibrium parameters (price and sales volume) and conclude whether the company is in a state of long - term or short-term equilibrium. Draw a graph.

16. The function of the total costs of the firm-monopolistic competitor in its narrow market: TC = 3×Q2-8. Market demand for the company's products: P = 64-Q. After the advertising campaign, the costs of which amounted To C re-klama= 6×Q-10, the residual demand increased and amounted to P = 76-2×Q. Determine the optimal output and price that the firm will set for its products before and after the advertising campaign. Give a description of the effectiveness of advertising in this case.

17. Two firms produce the same product. At both firms marginal costs are constant, at firm 1 they are equal TS1 = 20+2Q for pieces, and at firm 2 they are equal TC2 =10+3Q for sht. The inverse demand function for bread is p = 100 – Q, where Q= q1 + q2. Find the reaction function of firm 1. Find the fir-we reaction function 2. 

18. Two firms produce the same product. At both firms marginal costs are constant, at firm 1 they are equal TC1 = 20+2Q for pieces, and at firm 2 they are equal TC2 =10+3Q for sht. The inverse demand function for bread is p = 100 – Q, where Q= q1 + q2. Find the output of each firm in the Cournot equilibrium. Find the output of each firm in the Stackelberg equilibrium, considering firm 1 as the leader and firm 2 as the follower. Count the profits.

19. A profit-maximizing monopolist produces goods X with the values of TC=0,25Q2+5Q and can sell goods in two market segments characterized by the following demand curves: P =20-q and P=20-2q. What quantities of products and at what price will the monopolist sell in each of the market segments, if he is allowed to conduct price discrimination? Find the change in the total profit of the monopolist in the transition to the policy of target discrimination.

20. Oligopolistic interdependence of firms in the market always leads to the fact that one firm becomes dominant, suppressing the interests of others?

21. Does Bertrand's equilibrium always lead to the setting of the price of a perfectly competitive market?

22. Violation of any of the following conditions does not lead to the undermining of the cartel agreement: homogeneity of production; equal distribution of market power among the participants; positive economic profits in the industry; lack of technological improvements in the industry, sharply reducing production costs?

23. There are three firms of the same size in the industry. The marginal costs of each company are the same, constant and equal to 298 rubles. The demand for the production of the industry is represented by the following data: Price (rubles per unit): 1500 1200 900 600 300. Demand volume (thousand pieces): 300 600 900 1200 1500. If firms join a cartel and divide the market equally, what will be the equal price and how much output will each firm produce?

24. In the chemical industry, there are 4 firms that have a share of sales co-responsibly 20%, 25%, 40%, 15%, and in the manufacturing industry-5 firms with shares 10%, 15%, 25%, 30%, 20%. In which industry is the degree of monopolization higher?

25. In the home appliance store, you can sell 5 TVs at a price of 8200 USD or 7 TVs at a price of 7500 USD. Determine the marginal income from the sale of the seventh TV.

26. There are three firms of the same size in the industry. The marginal costs of each firm are the same, constant and equal to 197. The demand for the products of the industry is represented by the function q=1200-2P. Determine the equilibrium price and how many products each firm will produce, provided that the firms are United in a cartel and divide the market equally.

27. Do the prices of goods in the Lancaster model affect the alternative price of the characteristics X and Y contained in different goods? If so, how?

28. What are the main types of product differentiation you know? How are the strategies of firms in the market related to the peculiarity of product differentiation?

29. Show the difference between the range of problems analyzed in Hotelling and Salop models. Show how the objectives of the analysis are related to the design of the above models.

30. Will there be any impact on the economic situation of firms in the market are vertically differentiated product problem information asymmetry about the quality? If Yes, indicate the main areas of influence.
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